Varied Fluency
Multiply 3 Digits by 1 Digit

Developing
1a. False, 20 x 2 = 40, not 60. The answer

should be 1,648.
2a. 2,048
3a. 3,055

Expected
4a. True

5a. 1,290
éa. 2,528

Greater Depth

7a. 5,621 > 5,520

8a.892 x 6 = 5,352

9a. A: 6,840 - 3,236 = 3,604, B: 4,856 -
4,740 =116

Varied Fluency
Multiply 3 Digits by 1 Digit

Developing
1b. True

2b. 1,296
3b. 1,284

Ex 1l

4b. False, 0 x 4 = 0, not 4. The answer
should be 1,320.

5b. 2,015

éb. 1,659

Greater Depth

7b. 5,700 < 4,381

8b. 786 x 4 = 3,144

9b. A: 3,048 — 2,880 = 168, B: 4,450 — 4,256
=294




